



Sixth Amendment to Contract No. 017-A-09/10-BOS Between the County of El Dorado and Geosyntec Consultants, Inc

THIS SIXTH AMENDMENT TO CONTRACT No. 017-A-09/10-BOS made and entered between the County of El Dorado, a political subdivision of the State of California (hereinafter referred to as "County"), and Geosyntec Consultants Inc., duly qualified to conduct business in the State of California, whose principal place of business is 1111 Broadway Street, Sixth Floor, Oakland, CA 94607 (hereinafter referred to as "Consultant") hereby amends the Contract as follows:

WITNESSETH

WHEREAS, County has determined that in order to complete the Cap System, French Drain and Landfill Gas Emission Control System Operable Unit 1 at the Meyers Landfill, said project shall extend into the 2013 construction season, the fee schedule and contract term shall be revised, the parties hereto have mutually agreed to amend Article V, Items A and B.

NOW, THEREFORE, County and Consultant mutually agree that Contract No. 017-A-09/10-BOS be amended a sixth time as follows:

ARTICLE V Compensation for Services:

- A. For services provided herein, County agrees to pay Consultant by tasks, upon receipt of itemized invoices detailing a description of work performed. Payments shall be made within sixty (60) days following County's receipt and approval of invoices. For the purposes hereof, the billing rate shall be in accordance with Exhibit A marked "Sixth Amendment - For Supplemental Services Performed December 31, 2012 to December 31, 2013" attached hereto and incorporated herein.
- B. The total payment pursuant to this Agreement shall be amended to increase the total amount by Seventy Two Thousand Eight Hundred Twenty Eight dollars (\$72,828). The total payment under this Agreement to Consultant SHALL NOT EXCEED Eight Hundred Fifty Five Thousand Two Hundred One dollars and Two cents (\$855,201.02).

Except as herein amended, all other parts and sections of that Agreement No. 017-A-09/10-BOS, dated the 7th day of June, 2010, the First Amendment made and entered into the 29th day of June, 2010, the Second Amendment made and entered into the 14th day of December, 2010, the Third Amendment made and entered into the 15th day of December, 2011, the Fourth Amendment made and entered into the 17th day of April, 2012, and the Fifth Amendment made and entered into the 18th day of December, 2012 shall remain unchanged and in full force and effect.

Requ	uesting Contract Administrator Concurrence	:	
Ву:	Gerri Silva, M.S., REHS Environmental Management Division Director Community Development Agency		
Requ	uesting Division Director Concurrence:		
Ву:	Gerri Silva, M.S., REHS Environmental Management Division Director Community Development Agency		
Requ	uesting Department Head Concurrence:		
Ву:	Kimberly Kerr Director Community Development Agency	Dated:	

IN WITNESS WHEREOF, the parties hereto have executed this Sixth Amendment to Contract No. 017-A-09/10 BOS the day and year last below written.

-- COUNTY OF EL DORADO --

	Dated	d:
	Ву:	Ron Briggs, Chair
		Board of Supervisors "County"
ATTEST: James S. Mitrisin Clerk of the Board of Supervisors		
By:	Dated:	

-- CONSULTANT --

	tec Consultants, Inc. ornia Corporation)		
G	ancy T. Bice, P.G., C.E.G, Principal eosyntec Consultants, Inc. onsultant"	Dated:	
By:Co	orporate Secretary	Dated:	
(mlw)			(139-S1111)

Geosyntec Consultants, Inc.

Table 1 COST ESTIMATE FOR 2013 CQA SERVICES LANDFILL CLOSURE CONSTRUCTION MEYERS LANDFILL OU-1 El Dorado County, California 7 March 2013

ITEM		UNIT RATE		NUMBER	UNADJUSTED COST	MARK- UP	ADJUSTED TOTAL
TASK 1 - CQA FIELD SERVICES							
1.01 CQA Officer	hour	\$	172.13	20	\$3,443	1	\$3,443
1.02 Assistant CQA Manager	hour	\$	134.70	20	\$2,694	1	\$2,694
1.03 CQA Field Manager	hour	\$	79.83	266	\$21,234	1	\$21,234
1.04 Per Diem - CQA Field Manager	day	\$	40	25	\$1,000	1	\$1,000
1.05 Lodging (All Personnel	day	\$	125	40	\$5,000	1	\$5,000
1.06 Vehicles/Fuel	day	\$	100	25	\$2,500	1	\$2,500
1.07 Nuclear Density Gauge	week	\$	210	5	\$1,050	1	\$1,050
1.08 Miscellaneous (Shipping, Supplies, etc.	lump	\$	500	1	\$500	1	\$500
					Total Task 1		\$37,420
TASK 2 - CQA AND VEGETATION ESTABLISHMENT REPORT							
2.09 CQA Officer	hour	\$	172.13	40	\$6,885	1	\$6,885
2.10 Assistant CQA Manager	hour	\$	134.70	80	\$10,776	1	\$10,776
2.11 CQA Field Manager	hour	\$	79.83	12	\$958	1	\$958
2.12 Miscellaneous (Reproduction, Shipment, etc.	lump	\$	1,000	1	\$1,000	1	\$1,000
					Total Task 2		\$19,619
TASK 3- PROJECT MANAGEMENT/ADMINISTRATION/MEETINGS							
3.13 CQA Officer	hour	\$	172.13	52	\$8,951	1	\$8,951
3.14 Assistant CQA Manager	hour	\$	134.70	30	\$4,041	1	\$4,041
3.15 Administrative Assistan	hour	\$	62.40	32	\$1,997	1	\$1,997
3.16 Vehicle/Fuel	day	\$	100	3	\$300	1	\$300
3.17 Miscellaneous	lump	\$	500	1	\$500	1	\$500
					Total Task 3		\$15,789
					GRAND TOTAL		\$72,828

Notes:

TASK 1 - CQA FIELD SERVICES

- 1- Assumes 25 working days at 10 hours per day, or 250 onsite hours plus two 8-hr days for mob/demob for the CQA Field Manager. Actual costs will depend on the duration of construction.
- 2- Includes 4 hours per week for CQA Officer and 4 hrs per week for Assistant CQA Manager for 5 weeks for reviewing construction documentation (submittals, field data, field reports, meeting minutes, etc.) and coordinating with the County, contractors, and field personnel.

TASK 2 - CQA AND VEGETATION ESTABLISHMENT REPORT

- 1- Assumed hours to prepare vegetation establishment certification report and to respond to USFS/ERRG comment on the draft CQA Report Actual costs will depend on the extent comments and effort to address the comments.
- 2- Includes submitting 4 hard copies of the Draft Vegetation Report and 10 copies (hard copies and electronic) of the Final CQA Report and Vegetation Establishment Reports to the County.

TASK 3- PROJECT MANAGEMENT/ADMINISTRATION/MEETINGS

1- Assumes 1 onsite kick-off meeting and 2 onsite progress meetings (including Final Sitewalk) attended by the CQA Officer. Assumes Assistant CQA Manager to attend weekly meetings by teleconference.